
SAP ABAP table OIHLVB {IS-OIL TDP: reference structure for XOIHL}

OIHLVB

MANDT [CLNT (3)]

LICTP [CHAR (4)]

BUKRS [CHAR (4)]

KUNNR [CHAR (10)]

KVGR1 [CHAR (3)]

MVGR2 [CHAR (3)]

MATNR [CHAR (18)]

AUART [CHAR (4)]

LIFNR [CHAR (10)]

LCJUR [CHAR (10)]

MEINS [UNIT (3)]

LCMOT [CHAR (2)]

LAND1 [CHAR (3)]

REGIO [CHAR (3)]

COUNC [CHAR (3)]

CITYC [CHAR (4)]

HANTP [CHAR (2)]

LCFOL [CHAR (10)]

WERKS [CHAR (4)]

UMWRK [CHAR (4)]

KNA1

MANDT [CLNT (3)]

KUNNR [CHAR (10)]

 OIHLVB-KUNNR = KNA1-KUNNR 
0..N

0..N

LFA1

MANDT [CLNT (3)]

LIFNR [CHAR (10)]

 OIHLVB-LCJUR = LFA1-LIFNR 

0..N

0..N

 OIHLVB-LIFNR = LFA1-LIFNR 0..N

0..N

MARA

MANDT [CLNT (3)]

MATNR [CHAR (18)]

 OIHLVB-MATNR = MARA-MATNR 
0..N

0..N

OIH20

MANDT [CLNT (3)]

LICTP [CHAR (4)]

 OIHLVB-LICTP = OIH20-LICTP 
0..N

0..N

OIH5

MANDT [CLNT (3)]

HANTYP [CHAR (2)]

 OIHLVB-HANTP = OIH5-HANTYP 
0..N

0..N

OIHL

MANDT [CLNT (3)]

LICIN [CHAR (10)]

LICTP [CHAR (4)]

 OIHLVB-LCFOL = OIHL-LICIN 
0..N

0..N

T000

MANDT [CLNT (3)] OIHLVB-MANDT = T000-MANDT 0..N

0..N

T001

MANDT [CLNT (3)]

BUKRS [CHAR (4)] OIHLVB-BUKRS = T001-BUKRS 0..N

0..N
T001W

MANDT [CLNT (3)]

WERKS [CHAR (4)]

 OIHLVB-UMWRK = T001W-WERKS 0..N
0..N  OIHLVB-WERKS = T001W-WERKS 

0..N0..N

T005

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

 OIHLVB-LAND1 = T005-LAND1 

0..N

0..N

T005E

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

REGIO [CHAR (3)]

COUNC [CHAR (3)]

 OIHLVB-COUNC = T005E-COUNC 

0..N

0..N

T005G

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

REGIO [CHAR (3)]

CITYC [CHAR (4)]

 OIHLVB-CITYC = T005G-CITYC 

0..N

0..N

T005S

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

BLAND [CHAR (3)]

 OIHLVB-REGIO = T005S-BLAND 

0..N

0..N

T006

MANDT [CLNT (3)]

MSEHI [UNIT (3)]

 OIHLVB-MEINS = T006-MSEHI 

0..N

0..N

TVAK

MANDT [CLNT (3)]

AUART [CHAR (4)]

 OIHLVB-AUART = TVAK-AUART 

0..N

0..N

TVM2

MANDT [CLNT (3)]

MVGR2 [CHAR (3)]

 OIHLVB-MVGR2 = TVM2-MVGR2 

0..N

0..N

TVTR

MANDT [CLNT (3)]

VKTRA [CHAR (2)]

 OIHLVB-LCMOT = TVTR-VKTRA 

0..N

0..N

TVV1

MANDT [CLNT (3)]

KVGR1 [CHAR (3)]

 OIHLVB-KVGR1 = TVV1-KVGR1 

0..N

0..N


